MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

TWO DIGIT DECIMAL NUMBER 1;?;1: o
91 0.0005 x (—40) = 00 9 x (—0.78) =
92 —0.001 x 0.0041 = 0 1% 0.14 =
) —0.009 x (—0.055) = 09 0.03 x 0.0058 =
0 7 x 0.0028 = ) 0.001 x (—1.8) =
w5 —0.5 % 2.6 = 00 —0.08 x (—4) =
36 —0.0001 x (—2.9) = an-0.001 x 10 =
97 —0.05 X 5 = 12 (0.7 x (—0.035) =
398 —0.9 x 0.25 = 13 —0.0002 x (—0.0087) =
399) —6 X 0.38 = a4 —1 x 0.68 =
i —0.08 x (—98) = 0 —0.003 x (—0.037) =
00 x (—0.089) = a0 —0.01 x (—35) =
0 0.01 x 0.0041 = un 5% (—0.081) =
03 —0.02 X 62 = 19 —0.8 x (—0.069) =
101 —0.006 X 96 = 119 —0.006 x 0.0062 =
0 —0.02 x (—2.1) = 20 —0.006 x (—0.051) =
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